STATE OF MAINE
DEPARTMENT OF TRANSPORTATION
16 STATE HOUSE STATION
AUGUSTA, MAINE 04333-0016

Janet T. Mills Bruce A.Van Note

THE

GOVERNOR COMMISSIONER

August 1, 2025

Subject: Woodland Fish Passage
WIN: PH20250514WFP
Location: Baileyville
Amendment No. 13

Dear Sir/Ms.:

REMOVE, select sheets of “Exhibit B Design Plans” and dated May 13, 2025, and REPLACE
with the attached revised sheets of “Exhibit B Design Plans” dated August 1, 2025. Revised
sheets are listed in the Drawing Updates table below, and updates are clouded for visibility.

Revisions to S-231 are associated with the response to Question 197 of Amendment No. 12.

Corrections to M-115 are not directly related to RFI responses that have been provided but were
identified during evaluation of the questions.

Drawing Updates
Drawing No. | Title Exhibit
S-231 Fish Lift Tower Framing Sections & Details B-3
M-115 Fish Lift Hopper Details B-4

The following has been added or revised:

The Remove and Replace dates noted in the first paragraph of Amendment 12 were incorrectly
reported and shall be revised to May 13, 2025, and July 31, 2025, respectively.

Consider these changes and information prior to submitting your bid on August 6, 2025.

Sincerely,

George M. A. Macdougall P.E.
Contracts & Specifications Engineer

MAINE DEPARTMENT OF TRANSPORTATION IS AN AFFIRMATIVE ACTION - EQUAL OPPORTUNITY EMPLOYER

PHONE: (207) 624-3000 TTY USERS CALL MAINE RELAY 711 FAX: (207) 624-3001



ANGLE THICKNESS AND

DIA &NO. OF BO
SEE SCHED

WF
BEAM
SEE
PLAN

GUSSET PLATE

THICKNESS

SEE SCHEDULE

J{ I

LTS
ULE

WF BEAM
SEE PLAN

BOLT DIAMETER
AND AMOUNT
SEE SCHEDULE

SEE FRAMING PLAN
FOR DIAGONAL SIZE

TOS

4 SEE PLAN

TYP, SEE

SCHED

ANGLE
THICKNESS WF BEAM
AND DIA &NO. SEE PLAN
OF BOLTS
SEE
SCHEDULE
e e
L — BOLT DIAMETER

AND AMOUNT
WF SEE SCHEDULE
COLUMN
SEE PLAN SEE FRAMING

PLAN

FOR DIAGONAL
WF SIZE
BEAM
SEE GUSSET PLATE
PLAN THICKNESS

SEE SCHEDULE

TYP, SEE

p—

SCHED

BEAM

SEE BRACING ) A SEE PLAN
SEE BRACING ELEVATION 172 THgLﬂ[E) f
ELEVATION FOR DIAGONAL N ;
FOR DIAGONAL SIZE I
SIZE Y (4) 3/4" DIA HSB i /6" UNO
\SEE SCHED (2 EA SIDE) — [H;
BOLT DIAMETER g
AND AMOUNT MATCH SEEBLAN
SEE SCHEDULE GUSSET
PLATE
2L3X3X1/4 14N C Typ
THICKNESS UNO ON 1/4] N -
SEE BRACING gl'gé%gﬁ ] ,9
ELEVATION N ) O
FOR DIAGONAL (3) - 3/4° DIAA32S Wl
SIZE HSB (TYP) o
7
CONNECTION SCHEDULE
BRACE | oo 1pa | ROWSOF | BOLTSPER GUSSET WELD
SIZE BOLTS ROW THICKNESS SIZE 3/8" GUSSET
PLATE (TYP
2L4X3X1/4 3/4" 1 3 MATCH T&B CONN | 1/4" A (TYP)
2L6X4X3/8 3/4" 2 2 MATCH T&B CONN | 1/4" SEE SECTION

/3 \HORIZ DOUBLE ANGLE BRACE DETAIL

TYP KNEE BRACE DETAIL
SCALE: 3/4" = 1'-0"

BRACE TO GUSSET & GUSSET TO ANGLES CONNECTION SCHEDULE BRACE TO GUSSET & GUSSET TO ANGLES CONNECTION SCHEDULE -213 SCALE: 3/4" = 1'-Q"
ROWS ROWS
BRACE | goLTDIA OF BOLTS GUSSET WELD SIZE BRACE | BoLT DIA OF BOLTS PER GUSSET WELD SIZE
SIZE PER ROW | THICKNESS SIZE ROW THICKNESS
L4X4AX1/4 3/4" 1 3 3/8" 1/4" L4X4X1/4 3/4" 1 3 3/8" 1/4" W8 BEAM WALKWAY SIDE APPROXIMATE LOCATION
SEE PLAN FISHLIFT OF GUARD RAIL
2L4X3X1/4 3/4" 1 3 3/8" 1/4" 2L4X3X1/4 3/4" 1 3 3/8" 1/4" COLUMN, TYP 10' - 0"
" " " 2L6X4X3/8 3/4" 2 2 3/8" 1/4" (h)-3/4" DIA 2325 \ | |
2L.6X4X3/8 3/4 2 2 3/8 1/4 BOLTS ON GAGE - WIRE ROPE CLIP, TYP ===
OF W8
ANGLES TO BEAM CONNECTION SCHEDULE ANGLES TO BEAM CONNECTION SCHEDULE ;:* - o Es A
BRACE SIZE| BOLTDIA | NO. OF BOLTS | ANGLE THICKNESS BRACE SIZE| BOLTDIA | NO. OF BOLTS | ANGLE THICKNESS ' '
3/4" DIA A325 GALV
L4X4X1/4 3/4" 2 5/16" L4AXAX1/4 3/4" o 5/16" = = STL PL 3/8"x4"x3" 3/8" GALV STL WIRE STL BOLT, TYP GALV STL JAW &
ROPE W/ THIMBLE JAW TURNBUCKLE
2L4X3X1/4 3/4" 2 5/16" 2L4X3X1/4 3/4" 2 5/16"
2L6X4X3/8 3/4" 2 5/16" 21.6X4X3/8 3/4" 2 5/16" HOPPER SIDE
0 3" 6" 1 2' 3
mHORIZ BRACE CONN DETAIL mHORIZ BRACE CONN DETAIL mSECTION e m— PLAN
-212 SCALE: 3/4" = 1'-0" -212 SCALE: 3/4" = 1'-0" -21Y SCALE: 3/4" = 1'-0"
S-213 S-213 A
S-214 S-214 WIDTH. SEE Vlfr (TYP)> T PROVIDE 4x3x3/8 GALV 3/8" GALV STL WIRE
. STL PL W/ 1" DIA HOLE ROPE W/ THIMBLE
I i MAX =
| qN=z | ; = ] |
SEE ) A325 BOLT A325 BOLT ” == s |
DETAILS - 11/2 DIAMETER DIAMETER | 7 N B |
> FOR END SE ¢ E MIN | 4, AND AMOUNT AND AMOUNT ° | © H
W - ) 1]l SEE SCHEDULE SEE SCHEDULE —1- FLANGE CUT AWAY u u
v CONN | & | (Sam ~o || ©
FOR CLARITY —1 || u
(TYP) ihle o o|gs o ': ® n A M
- SPLICE ELEVATION ' —+ " v
SPACER N mil I R
o PLATE ; © 00 il SEE COLUMN SCHEDULE o Q °
BTW ANGLES : e Q| = S
MATCH f [ Smi @ !| 1 N — N
GUSSET j > | - |
THICKNESS 3" TYP A36 WEB SPLICE A36 FLANGE / ! A FISH LIFT | |
PLATE, ONE SIDE SPLICE PLATE i COLUMN, TYP | H
3/4" DIA A325 SEE SCHEDULE TOP & BTM I —ON GAGE \ | — TO GRATING OR ]
Jv Hgﬁ ISEE SEE SCHEDULE i | Cl?Oll\lCﬁiETE |
o o - i / l
DBL ANGLE BRACE | |
N N SEE ELEV A A,
O \ WEB PLATE CONNETION SCHEDULE FLANGE PLATE CONNETION SCHEDULE i v
ELEVATION
COLUMN | WEB PLATE BOLT R%"LSTgF BOLTS PER COLUMN | FLGPLATE | FLG PLATE BOLT R%VLS‘Tg BOLTS PER
MIDDLE CONNECTOR SIZE THICKNESS DIA PER SIDE ROW SIZE THICKNESS WIDTH DIA PER SID ROW
NOT REQUIRED @ PROVIDE WIRE MESH WITH MAX 4" SPACING BETWEEN GRIDS:
CROSS BRACE W12X58 3/8" 3/4" 1 3 W12X58 5/g" 10" 3/4" 3 } 5 . B&C, C&D, D&E ALONG GRIDS 2 & 3 ABOVE TOP OF CONCRETE EL 110.0'
INTERMEDIATE NOTE:  D&E ALONG GRID 2 ABOVE TOP OF GRATING EL 122.0'
CONNECTORS L2,L3,L4: 1 BOLT W14X90 1/2" 3/4" 1 3 W14X90 3/4" 12" 3/4" 3 i 2 * B&C, C&D, D&E ALONG GRID 3 ABOVE TOP OF GRATING EL 122.0'
REQUIRED @ QUARTER L5,L6: 2 BOLTS - D&E ALONG GRID 2 ABOVE TOP OF GRATING EL 146.0'
POINTS OF DBLE ANGLE W21X101 1/2" 3/4" 1 6 W21X101 7/8" 10" 3/4" 4 } 2 « C&D, D&E ALONG GRID 3 ABOVE TOP OF GRATING EL 146.0'
BRACE « B&C ALONG GRID 3 ABOVE TOP OF GRATING EL 149.0'
TYP DBLE ANGLE BRACE INT CONNECTOR DETAIL COLUMN SPLICE DETAIL WIRE MESH DETAIL
Y TR SCALE: 1"=1'-0" SCALE: 3/4" = 1'-0"
SCALE: 3/4"=1"-0
PROJECT: 16667
f ) WOODLAND FISH LIFT PASSAGE DESIGNT —— FISHLIFT TOWER DRAWN BY: D.SALDARRIAGA
I S S U E D F 0 R B I D VERIFY SCALE DESIGNER: C.MODESTO

NOT FOR CONSTRUCTION

MAY 2, 2025

-/

5/2/2025

ISSUED FOR BID

M.GRAESER

REVISION

DESCRIPTION OF ISSUE / REVISION

REVISED BY

BAR IS ONE INCH ON
| ORIGINAL DRAWING |

IF NOT ONE INCH ON THIS
SHEET, ADJUST SCALES
ACCORDINGLY

MAINE DEPARTMENT OF MARINE

RESOURCES

FRAMING SECTIONS & DETAILS

APPROVED BY: M. GRAESER

SHEET: 143 OF 240

S-231

DRAWING:




——[35/8" —
B — : | 1-Y4"x %¢6" BARS @ %"
T | ( >| 0/C W/ CROSSBARS @ 4"
5 L CENTER (ALUM GRATING)
!
N | — 1)
= 4'_2"
g} x16£}'xR1/A'!LSE|I_I{/IP§ LAsNg; 22 S EMBEDDED #114 RAIL -
4 ~ ASSEMBLY CLIP W/ "6"@ >
SIDE SCREEN SPACING N HOLE X
BELOW EL 110.0 == ==
%) ;
—~ g:C -
T g3
/N / 3/4" @ A325 BOLTS <\ 3
|| / COLUMN AT 2' SPACING CONT WT12x31 #114 RAIL CLIPS AND 3| ©
/ ¢ %@ A325 BOLTS @ 2 |5
/ TOP OF J e SPACING (TYP) | =
BRAIL / HOPPER 1/2" STIFFENER PL AT 2' SPACING b I
Z s @
SUPPORT / W14x90 COL © UV%IDEF;ELR |
\U-116/ MEMBER / | |’/ 14l e 119 T
~ g RN 2
/ ) Q\ .
/-~ %" SKIN PL oy M Nini Y I =/ ‘ @
(HOPPER WALL) 1] — J < g 2 _
é [ — = 0
- / COLUMN L " gy ¥ © =
¢ . CONT Wera 1 CONT 1/2 ‘ . ‘ i G RAL : ® > ®
X < =y
/“1°\ BRAIL TO HOPPER DETAIL EXTENSIONPL = et ]/ 3 > T 3 - 2
170/ SCALE. 2=10" 1/4\3-10 N #114 RAIL CLIPS AND e / \11/2 - = ol 5 2 U-)
. ' 1/4 |/3_10\ 2 _ %"?d A325 BOLTS @ 2' =, L o L]
0 6 ! AN & SPACING (TYP) > = =
I N\ I | ~ ~
e ey — C — — 1 - - COLUMN ‘ < Z 0 -
@:]P \ = ¢ é z % a N gl
O a
| < @ - 0 : C
1/2" STIFFENER PL \Q_ . 1 © o e o o o
AT 2' SPACING | © ® 2 Z S <
CONT L8x8x5/8 — 2 G RAIL | / W21x101 COL - « =
m A
s _ 3/4" @ A325 BOLTS AT 2' SPACING /N | A
| (8
HOPPER
_ GRIDLINE 2 ABOVE EL 110.0 WHEEL ‘ COLUMN o
> - \W-116/ 2
¢ 5
1= _ GRIDLINE 3 ABOVE EL 110.0 g
n 1 —©
/ 2\ ASCE 30 LB RAIL CONNECTION DETAILS _ ¢ y 1 =
= M-110/ SCALE: 2" = 10" oy = -
%"@ A304 SS PIN WITH SS PLAN zx'l
FLAT WASHERS AND
COTTER PINS (EACH END) 10" x 14" x %" A304 SS PL
—_ }E_ﬂ ﬂ-‘
2 3/4" [ 10" 1/4" (TYP) | i
(2) 2'x3%"x1%," A304 | ° Jl |L ° I
| / (HOPPER FLOOR) | | x ELEVATION ©
[ " [ i /[ ] m ~
- ARt & o ((TYP) ’ : : ° = ATTACH W/ %4"@ SS BOLTS & o
= = 73V ol B g SS NYLON LOCKING NUTS
= el S
x| Lk 1" x %" A304 SS SPACER : : S g7 i
y | 914" PL (ALL AROUND) ° CT T = = - =
% © ol | o ' - o =1
@ 2%" x %" A304 SS SEAT o | 3/8" THK STIFFENER | o z g
%"x1%" A304 SS HINGE ARM PL (ALL AROUND) ol GASKET BEYOND o | > D I
| A | F AN CEaBAR (TYP) ~nuoq_ 1/ns 1
1" x %" CONTINUOUS ol 7% le| © W,/ N\ C3"x1-5"x /4" ALUM
SECTION  NEOPRENE GASKET | eyl CHANNEL, L=13"-1"
ol N N i . 7 e | o PLAN
| ° \L ° ° ° ° ° ol o ° ° ° ° °o o | —
ol l o | i
/ 3\ FLOOR FILL PORT | 6" TYP & ol
M-111) SCALE: 1 1/2" = 10" 1 |
: r y | (4 BRAIL DETAIL (2 PANELS REQUIRED)
o — M-110/ SCALE: 3/4" = 1'-0"
0 1 2 0 i 2
/5 GASKET DETAIL A —
M-110/ SCALE: 3/4" = 1'-0" ™
PROJECT: 16667
’ \ WOODLAND FISH LIFT PASSAGE DESIGN DRAWNBY: _ C.HAGLER
- ISSUED FOR BID
CRNAL DRANING FISH LIFT HOPPER DETAILS APPROVED BY: M. GRAESER
M 2 verdantas NOT FONITA%OZN‘EEZSUCTION | : MAINE DEPARTMENT OF MARINE SHEET: 215 OF 240
IF NOT ONE INCH ON THIS
company L ’ 5/2/2025 | ISSUED FOR BID M. GRAESER SHEET ADUUST SCALES RESOURCES
ALD E N REVISION DESCRIPTION OF ISSUE / REVISION REVISED BY DRAWING: M-115




	Amendment 13 Combined Enclosures.pdf
	S-231
	M-115-192 M-115_R2
	192 M-115



